
Outdoor Metal Dining Table



ALLEN WRENCH
(PROVIDED) 180 LB S

TABLE

CAPACITY
1 PERSON
ASSEMBLY

UP TO 15 MIN.
ASSEMBLY

Page 1 of 5

BOLT
M6 x 16mm

WASHER
 M6 

1

4 PCS 4 PCS

2

NOTICE

TOOLS REQUIRED

HARDWARE

A  SUPPORT POST

1 PC

D BASE

PARTS

B CONNECT DISC

1 P

1 PC

C

C TABLE TOP

1 PC

BOLT
M8 x 30mm

WASHER
M8

3

6 PCS 6 PCS

4



Page 2 of 5

PRODUCT ASSEMBLY - OVERALL VIEW
Look at following overall view of this table and learn the exact position of each parts 
to be assembled.

PRODUCT ASSEMBLY

Place Part A Support Post straight up as shown below. Attach Part B Connect Disc 
to Part A Support Post with 3 sets of Hardware #3 Bolt and #4 Washer M8.1

C

A
B

B

D

4
3

4
3

A



Page 3 of 5

Attach Part D Base to Part A Support Post with 3 sets of Hardware #3 Bolt and 
#4 Washer (M8).

2

3

PRODUCT ASSEMBLY

Place Part C Table Top
the assembled Part A Support Post+ Part B Connect Disc to Part C Table Top with 
4 sets of Hardware #1 Bolt and #2 Washer (M6).

2
1

2
1

2
1

2
1

A

C
B

A

D

C

4
3

4
3

4
3



4
PRODUCT ASSEMBLY

Page 4 of 5



Page 5 of 5

CLEANING TIPS


